TE %1z 3 TE il 18 3L bl !ll.? 2 3l

s
& 2 5 L
. gle % |37 c c
= ¢ % - }l, c
EE R %50 & ®
N _He Hy N Im
01 |B24080-44XV 80 80 | 44 | 24 | 8 |153| 12 |29 | 6 |60 | M8 |11 |88 | 2 092 60 | M8x1.25 | 0.8 | 1.8
02 |B20100-40XV 100|100 | 40 | 20 | 9 1837/ 14 |34 | 6 | 60 | 6.6 | 11 | 6 2 |60 | 30 | 8 2 | 60 | M8x1.25 |1.37 | 1.22
03 |B24100-40XV 100 | 100 | 40 | 24 | 8 [183| 14 |34 | 6 | 60 |66 | 11 | 6 2 |60 | 30 | 8 2 | 60 | M8x1.25 | 1.3 | 1.15
04 |B24120-60XV 120 (120 | 60 | 24 | 8 |183| 14 |34 | 6 |80 |66 | 11 | 6 2 (8 |3 8 2 | 80 | M8x1.25 | 1.3 |1.15
05 |B30120-60XV 120 (120 | 60 | 30 | 7 [193| 14 |34 | 6 |80 |66 | 11 | 6 2 |80 (30 8 | 2 | 80 | M81.25 |23 | 2
06 |B36140-80XV 140 | 140 | 80 | 36 | 11 1852 14 |34 | 6 (100 | 6.6 | 11 | 6 2 (100 | 30 | 8 2 100 | M8x1.25 |1.52 | 2.2
07 |B24160-100XV 160 | 160 | 100 | 24 | 9 [21.73(165| 40 | 8 (118 | 9 | 14 | 8 2 |118 (225 10 | 2 | 118 | M8x1.25 |1.73 | 23
08 |B24180-120XV 180|180 | 120 | 24 | 9 (21.61(165| 40 | 8 (140 | 9 | 14 | 8 2 | 140 (225| 8 2 | 140 | M8x1.25 |1.61 | 1.44
09 |B36180-120XV 180|180 | 120 | 36 | 9 [21.37|165| 40 | 8 (140 | 9 | 14 | 8 2 | 140 | 22.5 2 | 140 | M8x1.25 |1.37 | 1.22
10 |B40180-120XV 180|180 | 120 | 40 | 9 [21.76/165| 40 | 8 (140 | 9 | 14 | 8 2 | 140 | 225 2 | 140 | M8x1.25 |1.76 | 1.57

P #Hp

c 1«( 3| C

%l D & . D

- F B

11 |B24200-120XV 200 | 200 | 120 | 24 9 121.63/16.5| 40 8 (150 | 9 14 8 2 |150|225| 8 2 | 150 | M8x1.25 |1.63 | 1.45
12 [B36200-120XV 200 | 200 | 120 | 36 | 11 |21.52/16.5| 40 8 |150 | 9 14 8 2 |150|225| 8 2 | 150 | M8x1.25 |1.52 | 1.36
13 |B72200-120XV 200 | 200 | 120 | 72 9 120.99,16.5| 40 8 (150 | 9 14 8 2 [150 |225| 8 2 |[150 | M8x1.25 |0.99 | 0.89
14 |B24210-135XV 210|210 | 135| 24 | 13 [21.71/165| 40 | 12 (165 | 9 14 8 2 |158| 15 | 10 2 | 165 | M8x1.25 |1.71 | 1.53
15 [B48210-135XV 210|210 | 135| 48 | 13 (21.71/165| 40 | 12 (165 | 9 14 8 2 |158| 15 | 10 2 | 165 | M8x1.25 |1.71 | 1.53
16 |B60250-160XV 250 | 250 | 160 | 60 9 121.63/16.5| 40 8 (195 | 11 |17.5| 10 2 (195 /225| 10 2 (195 | M10x1.5 [1.63 | 1.45
17 |B72250-160XV 250 | 250 | 160 | 72 | 11 |21.42| 16.5| 40 8 |195| 11 |17.5| 10 2 195|225 10 2 | 195 | M10x1.5 |1.42 | 1.27
18 |B360250-160XV | 250 | 250 | 160 | 360 | 7 |20.5|16.5| 40 8 (195 | 11 |17.5| 10 2 |195|225| 10 2 195 | M10x1.5 | 0.5 | 0.4
19 [B72280-190XV 280|280 | 190 | 72 | 11 |21.42|16.5| 40 8 222 |13 | 20 | 12 2 | 222225 10 2 | 222 | M10x1.5 |1.42 | 1.27
20 |B360280-190XV (280 | 280 | 190 | 360 | 8 |20.6|16.5| 40 8 (222 | 13 | 20 | 12 2 | 222 225 10 2 | 222 | M10x1.5 | 0.6 | 0.5

mmmumnmmmmmmmmmnmn-mm-

B60320-210XV 30.46| 25.5 M12x1.75 |1
22 |B72320-210XV 320|320 | 210| 72 | 11 (30.74/25.5| 58 | 12 |258 | 13 | 20 |12 | 2 |258 | 15 | 12 | 4 | 258 | M12x1.75|1.74 | 1.55
23 |B360320-210XV (320|320 | 210|360 | 9 |29.6(255| 58 | 12 |258 | 13 | 20 | 12 | 2 |258 | 15 | 12 | 4 |258 | M12x1.75| 0.6 | 0.5
24 |B48400-280XV 400 | 400 280 | 48 | 13 [31.52 26 | 60 | 12 (335 |13 |20 |12 | 2 |335| 15| 12 | 4 |335 | M12x1.75|1.52 | 1.36
25 |B60400-280XV 400 | 400 | 280 | 60 | 15 (31.82 26 | 60 | 12 (335 | 13 |20 |12 | 2 |335| 15 | 12 | 4 |335 | M12x1.75|1.82 | 1.62
26 |B72400-280XV 400 | 400 | 280 | 72 | 13 |31.52 26 | 60 | 12 |335| 13 |20 |12 | 2 |335| 15 | 12 | 4 |335|M12x1.75|1.52 | 1.36
27 |B360400-280XV (400 | 400 | 280|360 | 13 |30.6| 26 | 60 | 12 |335| 13 |20 |12 | 2 |335| 15 | 12 | 4 |335 | M12x1.75| 0.6 | 0.5
28 |B48520-415XV 520 | 520 | 415| 48 | 15 |31.97| 26 | 60 | 12 |450 | 13 | 20 | 12 | 2 |450 | 15 | 12 | 4 | 450 | M12x1.75|1.97 | 1.76
29 |B72520-415XV 520 | 520 | 415| 72 | 15 31.97| 26 | 60 | 12 |450 | 13 | 20 | 12 | 2 |450 | 15 | 12 | 4 | 450 | M12x1.75|1.97 | 1.76
30 |B360520-415XV |520| 520 | 415|360 | 15 [30.8| 26 | 60 | 12 (450 | 13 |20 |12 | 2 |450| 15 | 12 | 4 | 450 | M12x1.75| 0.8 | 0.7

mmmumnmmmm-mmmmnmn-mm-

B60600-480XV 36.95 M12x1.75 |1.95 | 1.74
32 |B72600-480XV 600 | 600 | 480 | 72 | 19 (37.28/ 29 | 70 | 12 |530 | 17 | 26 |16 | 2 |530 | 15 | 12 | 4 |530 | M12x1.75|2.28 | 2.04
33 |B360600-480XV 600 | 600 | 480|360 | 15 | 36 | 29 | 70 | 12 (530 | 17 |26 |16 | 2 |530| 15 | 12 | 4 |530 |M12x1.75| 1 | 0.9
34 |B72700-560XV 700|700 | 560 | 72 | 19 |36.7| 29 | 70 | 12 |610 | 17 | 26 |16 | 2 |610| 15 | 14 | 4 | 610 | M12x1.75| 1.7 | 1.5
35 |B360700-560XV |700| 700 560|360 | 19 | 36 | 29 | 70 | 12 (610 | 17 |26 |16 | 2 |610| 15 | 14 | 4 | 610 | M12x1.75| 1 | 0.9
36 |B72800-660XV 800 800 | 660 | 72 | 22 |39.3| 32 |75 |18 |710 | 17 | 26 |16 | 2 |[710 | 10 | - 4 | 710 | M12x1.75| 1.8 | 1.5
37 |B360800-660XV | 800 | 800 660|360 | 22 [39.2| 32 |75 | 18 (710 | 17 [ 26 |16 | 2 |710| 10 | - 4 | 710 | M12x1.75 | 1.7 | 1.4
38 |B721000-830XV |1000|1000 830 | 72 | 22 |61.7 545|120 | 18 | 900 | 17 | 26 |16 | 2 | 900 | 10 | - 4 | 900 M12x1.75| 1.7 | 1.5
39 |B3601000-830XV (1000|1000 830 | 360 | 22 |61.5|54.5/120 | 18 | 900 | 17 |26 |16 | 2 | 900 | 10 | - 4 | 900 | M12x1.75| 1.5 | 1.4

FRERBEREME - RY - REVBFITEEERN  WASTBEA -



